5333

RH

125A

Y7 Hh/3— Rear

00000 O 0 O MENU BACK

Cover

~NO.1860401

28

=L tiiE

00O 0O NEXT

i—24
~NO.1860401

Forward
LH
RH HaES ERER A R B s |E RS " =
i
B 5 FS ElaRk |BEl RO ~F % &KL % E
NO. PART NO. PART NAME Q'ty | DESCRIPTION |R/P) FROM ~ UP TO SERIAL NO. REMARKS
1 5332 1251 0Q1 |hn'— COVER pnd 1
2 5332 1252 0Q1 |hn'— COVER AL5% 1
3 5332 1254 000 |4")y7° GRIP HEF 2
4 5332 1256 000 |7°7vk BRACKET FE 1
5 5332 1257 000 |7'549b BRACKET X 1
6 K710 0108 020 |Fi'Vb BOLT 2 4 |M8 x 20(7T)
7 K110 0108 016 |Fk'Lb BOLT 12 14 M8 x 16
8 5332 1258 000 |fn'— COVER = 1
9 5333 1261 000 |n'un BUMPER LRIGAT 1
10 F301 0108 000 |FFvk NUT I EE 8 |m8 ~NO.1860401
10 F301 0108 000 |FFb NUT B R} 6 |M8 D |NO.1860402~
11 5332 1263 000 |7'54yb BRACKET X 1
12 0350 0140 818 |PW WASHER g 1 |8x18x1.6
13 0520 0125 016 |7ty PIN SPLIT TF47 1 |25%16
14 5332 1253 000 |An— COVER pind 1
15 K710 0108 012 |Fk'Ib BOLT 2 8 [M8x12(7T)
16 5332 1265 000 |AHn'— COVER = 1
17 5201 3608 000 |/n'#% SPRING B 1 |#92
18 3673 1247 000 |{v¥al—4 INSULATOR | #2514k 1
19 5332 1267 000 |7'54yb BRACKET BE S 1
20 5321 1264 001 |7'L—} PLATE AR 1
21 5332 1268 000 |An— COVER kS 1 D |~N0.1860401
22 5332 1269 000 [hn— COVER S 1
23 5332 1269 500 |Hn'— COVER = 1
CM225 —14— 2012/August




0 O O PAGE BACK 00000 O O O MENU BACK

5333 125A Y7#H/R"— Rear Cover A%

RH ~NO.1860401 28

24

i—24
~NO.1860401

Forward
LH

R MEmES BB ER A FR RS # s =
ExEml TS ek |BEl RO+ | H# & AL M #
NO. PART NO. PART NAME Q'ty | DESCRIPTION |R/P) FROM ~ UP TO SERIAL NO. REMARKS

24 5332 1269 800 |N4UbI%y SCREW 1244 6 [40x16 ~NO.1860401

24 5332 1269 800 |N4UFI%Y SCREW 1242 4 |40x16 D |NO.1860402~

25 5332 1271 000 |I7°b/—5— INSULATOR 4%k 1

26 5321 1268 000 |{v¥al—4 INSULATOR  |#4:%4k 1

27 5332 1272 000 |7'L—F PLATE BRIR 1

28 5332 1273 000 |7°L—F PLATE R 2 D [~NO0.1860401

29 5332 1274 000 |7'4yb BRACKET X 1

30 5332 1275 000 |3'L4% RUBBER IR 1

32 5332 1277 000 |I7°b—5— INSULATOR | #a4%ik 1

33 5332 1278 000 |1 ¥al—4 INSULATOR  |#4:%51k 2

34 5332 1276 000 |7°L—} PLATE BRAR 1

CM225 —15— 2012/August




	NEXT: 
	MENU BACK: 
	P A G E  B A C K: 


